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Part A — Multiple Choice Questions
(20 marks)

Choose the most suitable/best answer and indicate with a X’ in the answer sheet.

1. A type of variable which can assume any possible value between two points is called,
a) Continuous variable

b) Discrete variable

¢) Qualitative variable

d) Quantitative variable

. The relative frequency of each class interval in frequency table is calculated by
a) dividing the midpoint of the class by the sample size and multiplying it by 100
b) dividing the frequency of the class by the midpoint and multiplying it by 100
¢) dividing the sample size by the frequency of the class and multiplying it by 100
d) dividing the frequency of the class by the sample size and multiplying it by 100

. Which one of the following can be used to represent Qualitative data graphically?
a) histogram
b) bar graph
¢) ogive
d) frequency polygon

. One question in the survey conducted by WHO (world health organization) asked
participants to rate their overall health using 5-point rating scale (Highly Satisfied, Satisfied,
Neutral, Dissatistied, Highly Dissatisfied). The likely scale of measurement used for this
question is,

a) Interval
b}y Nominal
¢) Ordinal
d) Ratio

. In a hospital, 45% of the patients have hypertension, 30% of the patients have diabetes and
15% have both. If a patient is selected at random, then the probability that he/she has
hypertension or diabetes is,

a) 0.25
b) 0.60
¢) 0.75
d) 0.90

. 70% of students like Chocolate, and 35% like Chocolate and Cake. What is the probability
of those who like Cake given that they already like Chocolate?
a) 0.46
b) 0.50
c) 0.70
d) 0.85




7. Total area under a normal curve is equal to
a) 0
b) 0.5
c) 1
d} Infinity

8. What is the correct statement about a Poisson probability distribution?
a) The mean and variance of the distribution are equal
b) It is a continuous probability distribution
¢) The number of trials is always less than 5
d) It represents the number of non-random occurrences in various time intervals

9. Any numerical value that characterize given population is called afan
a) Error
b) Estimator
c) Statistic
d) Parameter

10. Type of sampling in which each and every element in the population has an equal chance to
being selected for the random sample is classified as
a) Cluster sampling
b) Simple random sampling
¢) Stratified sampling
d) Systematic sampling
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Part B —Structured Essay Questions
(80 marks)

Write answers in the space provided. Use the necessary information given in the table
below,

01. In a certain country, the dataset of annual number of deaths from tornadoes over the
period of 1998-2011 are as follows;

Year Number of deaths
1968 130
1999 94
2000 40
2001 40
2002 555
2003 54
2004 35
2005 38
2006 67
2007 81
2008 125
2009 21
2010 45
2011 544

a) Arrange the data in ascending order and calculate the summation of number of

deaths. Number of deaths

(6 Marks)




b) Calculate the average number of deaths over the 14 years.

X =

(3 Marks)

¢) Calculate the median (¢} and quartiles (@, Q3) of number of deaths. (Clearly
show steps of the calculations)

(15 Marks)

d) Find the range and Inter quartile range (IQR) of deaths.

(6 Marks)




e) Complete the following frequency distribution table by taking the width of the
class interval as 2 years.

Year Frequency
1998-1999

(7 Marks)

f) Sketch the histogram for above frequency distribution.

(10 Marks)
7




02.
a) Write down the correct answer in the blanks given below.

i. The set of all possible outcome of an experiment is defined as

......................

ii, I an event cannot be decomposed further into two or more events then that
eventissaidtobed .....ooveireiriiiininninnn,

ili. If an event consists of two or more events then that event is said to be a

.............................

iv. [Ifthe occurrence of two events cannot happen at the same time, then these two
events are said to be .......oooiiiinnns

v. Ifthe occurrence of event A does not affect the occurrence of event B, then two
events, A and B, are saidtobe .........ovveeiieiinen,

(10 Marks)

b) Given a binomial distribution where n=14, probability of success is 0.6.
i. Find the probability of P(X < 1). Show all the steps of your calculations.

PX=x)= (7;) p*(1—p)** (Standard notations have been used)

(2) - x!(:—!x)!

nl=nxn—-1D*M—2)%....41 {




(8 Marks)

ii. What is the mean of this distribution?

(2 Marks)
9




¢) It was found that average length of eye muscles was 20.05 mm with a standard
deviation of 0.02 mm. If data are normally distributed, find the probability that
an eye muscle selected at random would have a length

i. between 20.03 mm and 20.08 mm

(8 Marks)
it. less than 20,01 mm

(5 Marks)
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STANDARD NORMAL TABLE (2)

Entries in the table give the area under the curve
between the mean and z standard deviaions above
the mean, For example, for z= 1.25 the area under
the curve between the mean (0) and z Is 0.3944,
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04368
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0,496
0.4997
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0.0557
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0.1331
0.1709
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0.2389
0.2704
0.2995
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0.3508
03728
0.3925
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0.4686
04750
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0.4881
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0.4571
0.4879
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0.4588
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0.4994
04996
0.4997
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0.0675
(1064
01443
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0.2486
02794
0.3078
0.3340
0.3577
0.3790
0.3980
0.4147
(4282
G4418
04525
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0.4683
0.4756
0.4808
04850
0.4884
04911
0.4932
0.4948
(4862
04872
04979
4985
0.4989
04992
0.4695
0.4996
04997

0.0319
0.0714
0.1103
01480
0.1844
0.2190
0.2547
0.2823
0.3106
0.3365
03529
03810
0.3997
0.4182
0.4306
0.4429
0.4535
0.4625
0.4699
04761
04812
0.4854
04887
04913
04934
0.4851
0.4952
04973
(4980
0.4986
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0.4995
04996
0.4997

4,035
40753
0.1
0.1547
01879
0.2224
0.2549
0.2652
0.3133
0.3389
3624
$.3830
44016
077
0430
0.4441
0.4545
0.4633
0.4708
0.4767
0.4817
04857
$.4690
14916
0.4938
0.4952
0.4964
0.4974
0.4981
0.4986
0.4950
0.4593
04805
04087
0.4028
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